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ECONOMICS
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( Introduction to Growth and
Development Economics )
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Time : 3 hours

The figures in the margin indicate full marks
for the guestions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
e RAIARE AT B o -
fa) Economic development is ____
(quantitative/qualitative)
( Choose the correct one )
i T | (+iResrs / B3991)
( omco MR Sferea )
(b) Point out one limitation of ‘per capita

income’ as a measure of level of
economic development.

e T (@A ke Rk ‘e ww'y
el GB1 crye |
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(2)

As per new methodology (2010) of
HDI, educational attainment index is
measured by combined gross enrolment
ratio. ‘

( Write True or False)

TR ST T (WA T Al (1030) TS
Prar P WA TS WP AT e
TR = |

(mﬂwﬁﬁ)

State any one problem of measuring
economic development in developing
countries.

TN (PR LA SFN (SRR RS
oo fam R e b1 s/ Seme e 901

is recognized as the first economist
to propound the theory of balanced
growth.

(H. W. Singer / Rosenstein Rodan
/W. W. Rostow)
(Fill in the blank by choosing
correct one )
% WFe i TR 2w Sere
SRR Rowet & 1w |
(%R, SfF, ooy T'zecea o
/<. . %)
(D1 3R Sz 4 I o7 7 )

( Continued )
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(3)

According to Ragnar Nurkse, economic
development is partly affected by vicious
circle of poverty.

( Write True or False)

QRFR R TS AT T RTSR IF6E
T[S geifde LU

(371 & =7 o)

Who among the following economists

propounded the theory of unlimited
supply of labour?

(Prof. Hirschman/Ragnar Nurkse/

W. A. Lewis)

( Choose the correct one)

T @R SRR 2w Wiy @em

TG TWE 7
(T BT/ QFR /e, 9. i)
(ot AR Tferear )

Give any one example of social overhead
capital.

Nl e R e oo Sz faan o

What does the capitalist surplus refer
in W. A. Lewis theory?

RS9, Afe vy R e & Em e

( Tumn Over )



(4)

(i) According to Prof. Hirschman, inter-
mediate industries like steel and coal
are expected to generate maximum
linkages.

( Write True or False)
G RO TCo ORI E TR W 4RS!
Soawst s[RS sxeaet 338 $R +m3 )

(37 @ =7 foran )

2. Answer the following questions : 2x5=10
wor il PP el ferd

(a) Define economic growth.
ST et ke fan o

(b} What is Human Development Index?
TR o 35 T R0

(c) Mention any two drawbacks of gross
domestic product as a tool to measure
economic development.

wAe Rer coR wfen ot P v
Teorerd R T 151 wpifen Bewd 1

(d) State two assumptions of the theory of
unlimited supply of labour. .

=T S @R SR T e SR
TrEd 91 1

A9/12§5 { Continued )

(e)

(5)

Mention any two limitations of large-
scale industry in the context of a

‘developing economy.

SmAE (R e =R o R i g5
e TeEy F41 |

3. Answer any four of the following :

oo R I BieR e foran

(a) Describe the sources of economic
growth.
YA TR SOTIRI 341 i |

(b) In what ways is the concept of economic
development differ from economic
growth?
& & fore wtafes Tmm A ivels
4T

f{c) Briefly explain the concept of unbalanced
growth.
TPl FfER YRETCE! 5L WM I

{d) Mention any five merits of small-scale
industrial sector in a developing
economy.
T orTe FE Trmel 993 R G b
ARy Bra 7401
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4. Answer any four of the following :

(6)

What is capital-intensive technique?
Explain briefly.

TA-FRS e 2 530 amm =1 1

State any five causes of economic
underdevelopment.

ST SPEOR R @I <6 TR SrEy
]

R R @I BiRGR Tet forey :

(a) Explain how the Human Development

(b)

(c)

A9/125

Index attempts to measure economic
development.

T T P @ R SRR S
CSTAIR 2RAPT 91 =, R0 31 |

Describe the factors responsible for
economic development.

wwma@rﬁvwwwm
faam

What is vicious circle of poverty?
Explain how to break the circle of
poverty as shown by Prof. Nurkse.

wﬁwwﬁ?wmwmmwwﬁw
MPoF e IR 1, v 2 o

{ Continued )

10x4=40

(d)

(e}

(9

)

A9—14+/125

(7)

Explain the role of backwash effects’
and ‘spread effects’ for increasing
inequalities in an economy as shown in
Myrdal’s theory of cumulative causation.
figee® cumulative causation T
(T3STR WA TS 37S Pl Il oIS
“opTIR-2PFET R SE TTRePIR SifRA’S
i R T ‘
What is choice of technique? Argue the
case for labour-intensive technique for a
developing economy.

scerE 7 Smae orR ovae =N-fARe
FPER T Y SR |

Critically assess the role of agriculture
in economic development of a developing
country like India.

SRS WA T PR Sftaee  Samee
CHTS IR SRF SHTABAIFER FAT 7411
Is industrialization ﬁecessary for

economic development of developing
economies? Explain.

o B C R L I C R (o
SN ATAEANTO! SO 7 T F41 |
Elaborate the concepts of development
and underdevelopment.
T S SR e 01 IR o o
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